Solucion.
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PMI — PMS =c¢c=T7,6mm

De aqui deducimos:

‘P‘."[“S' 71 6 H. 6
PJ\;-S‘ =9= PMS (? = 0,95cm
PMI = PMS +¢c=0,95+4+ 7.6 = 8, 55em

b)
i T P? T-7,92 _ _ o
V, = S C = 1 7.6 = 372,33cm”
Cilindrada =V, - n = 372,33cm? - 2 = 744, 6Tem?
) T - P2 - 7,9% .
Veomp = ——  PMS = ——— 0,95 = 372,346, 54cm?
C)

Pma=32 Kw, para n=5500 r.p.m., es decir:
2-m-n  2-mw-5250r.p.m.
- : b 549, 5rad/s

“= 760 60

— Praz _ 32000w — 58.93Nm
w 549, 5rad/ s U

2:-m-n  2-7-3000r.p.m.
Tt el = 314rad/s

“T 760 60
P=M, .. w=61TNm-3l4rad/s = 19373, 8w

d)
SiNrans=90%, entonces:

Prvedas =1 Protor = 0,90 - 32000w = 28800w



